PA Worksheei U2-1 Name:

/18

C1: Solve for x,

AL
"lv Dat‘e:
3. x {1015
~ 10 -10

£30

riZk

X:I.Pﬁg-/

- C2: Determine if the given value for x is a solution to the given equation.

1.5x+8=-7 x=-3 2. 2x+9=1 x=4

T s

Tierg= -7 “8+9 = |
7 =7 | =] v
yes o

Yes

4.203x+2)=-14 x=3 3.4x-17=-2x—-5 x=2

2( s6yin)-my M= 22)5

2(Q.L2>:-—’Lf §-17 =-4-5
- ~94z-9
2(1) = ~4 e
22= =4 (j

Aaron Hickman 7T Parkway West Math Depaiment

3.7x—10=25 x=-2

7(-z)~}0 £ZS

/IL}'—-|D;2—§
- -2¢ = 25

N©O
6.4x+7x-10=12 x=-1

)T+ )6 = 12
’LTH"T)—}D
~ll-lo=]Z
—21=12

NO

—
—

12
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i ~ PA Worksheet U2-2

1.4x+8=20 x=3

- Name: K@Lg
/18 J. Date:

C1: Please solve each equation below for the given variable. |
1. x+4T 3 2. x-9k6 T3 x+(2)=1 4 x—Lo

-4 i-4 +4 4—4 ~/:! 47(! +1!

2(.-:. - X Ao 142 Y-—E 5

K =13
8. x-9%-9

6. x— (—7)— 12

12. x-\17L3

P 7
AR D

C2: Determine if the given valae for x is a solution to the given equation,

2, -2x —4=-12 x=1

4(z)+¢=20

—20)-v=-12
[2+-8=20 “7-4=-12
20220V L2
es
NO

4.32x+7)=33 x=2 , 5.2(-2x-5)=-6 x=0

3(2(2) F7)=33 2(-2(9) -
5(%47)153 2(6-9) = -t
3(1)=33 2U5)=7t
23233V -0 =-b

3.6x+2=-4 x=-1

6(”)';’2 - ——LJ[
~et2Z2= -4
“H =S

365

6. 7(2x —\S) =7 x=3

1(20)-5 ) =7
7[@:" 5)’ =77

T(1)=7
7::71/

Aaron Hickman 7T Parkway West Math Department 70 Pre-Algebra T Fall 2009
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PA Worksheet U2-3 Name: H4Y |
/22 ' j Date:

C1: Please solve each eguation below for the given variable.

1.\(»:‘1_8_ '2.\3;_@;5_
%lo BB
123 X 30

C2: Determine if the given value for x is a solution to the given inequality.

l.4x+3<-3 x=-3 2. 2x —4>10 x=-5 3, 6x-1227x=-1
4952 -3 205 =410 - W2z
7 +% L= -4 10 ' “L-122"71
~ 4%V ey ~1827
_ bes | N ND.
4, -9x+1<12 x=-1 = 52x-5>-6 x=0 6. T2x+1)<-35 x =5
’ﬁ('l)+lf_lz 2(0—5)>—¢, 7(2{¥s)+:\) 5—35
Cf‘H.‘/:lZ/ 2(-3)>b ARV ERER
loc |2 — 0>~ 7( -Gy —25.
es (-9)< -35

9 .
AaroWHickman 7t Parkway West Math Department T Pre-Algebra T Fall 2009
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" PA Worksheet U2-4 Name: K2\
E ‘ /22 o / Date:

C1: Please solve each equation below for the given variable.

1. ? 15 2. x¥-28 3. Mx 36 4.%%_5_
- T "l\ v ‘ BT 15

10oxk-63  12.32xk48

ql&q % iz

C2: Determine if the given value for x is a solution to the given equation or inequality.

1.6x—5=19 x=4 2, —Tx+8=-6 x=-2 3.5(2x-3)+3=-2 x=-1
(9(‘4’}-—5;\5{ ’7('2)-]-3 sl ‘{2[-!}_3){-3 ,,., -2
24-5=19 48276 5(-2-5)rz =2
[Qilﬂ/ 2=k s(-8)+2= -2 |
Y €35 NO ' - ?/9:7,?_’7,::-_ %2 NO
4, 5x—1228 x=4 5.4(2x+5)<-12 x=-5 6, —A6x—-3)<-30 =5
S(a)-022§ H{~2(-5) re) &2 ~2((-5)-2) £ -30
201228 . '-1(_[,01*5>[-[2_ —Z(ﬂo#z)é-?;o
2 5 Y(le) £-12 - 2(-33) &30
€5 boﬁ_eil T bl £ -Po

- Aaron Hickman 7T Parkway West Math Deparfment 7 Pre-Algebra T Fall 2009
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BMC 4

~ syiew Assignment for Unit 2 Quiz 1

“LsEiolve each equation.

1) -16v=176 ' ~1pV
e |

3) 134+r=-4

5) Tmr= 126

Y x4+ (-18)=-36

9) ~17+x=1

1) m+(=3)=0.

- 13) 2k=30

Name K[Mﬂ'

D1
U
Date Period

2) ~12x=240

4y -17 +k=-1

8) y+19=39

10) p—1=-2

12) x+(-17)=-18

14) -10x =130




15) saf—(e{;f}«;—_—qﬁ . e 1T

Evaluate each expression.

16) 8+ ([3]~=2-1) 17) 4(3-3)— ~4+ -1
g @+2 D oy HY A
4l o
¢y ,@ | # ;

18) (4-2)+(3-=1) | 19) -1 -2-=f0+(6-4)
g4 . -3410% 2

@1 . ' -3+5
20) 4--3+3 -1 |

-4 43 + 27

~\+ 27~

peeenine. i3 ot uelae. o - '
erermine 1 e ' ST . : o
: lnequal\w 9i value for % is & solulion -I—D the given equabion c-

2!) (0X1'7=lq 3 X=Z 22:) CIX-JO:"ZS’jK;Z
_ D+ 7=19 ' | | .
. _ o - -2
l2+7=19 S 9('4 1o="2
. g ~10=-2¢
=14 S. _ '
1971 s | | g=-28
| NO SoL,
- 23) é(x. ’r2)+(ax = 0 3 x= ~| - 24) | ‘?x—5x =-10420 3 X=5
( 1+z§ +6(—1) =0 | -~ q(s)-s5(s)F-10tz0
. 35-2%¢ =
)+ =0 .. o _ . .
ch . " : o =10 l/
b ‘é,« | yes
O=0V »

Yes



1) 4 (4x-5)225 Sx=l 2) ~3(-3x +8)< 5O jx==2
B (G DR ES X - | _3(-3(D+) ¢ 50
LT(’L{ f5>27/5 ' ~3(g+f8)4 —50.
Nz o -3(14) « -89
~-26z 25 o SoL . | 49 L-50 O SoL.
2)  gx+a>-l0 3 X=-3 28)  Bx-T= 3 ; A=-2
§-2) +a >~ 1° 5( 1€ 3
' D-7% 3
- 24 +9 >—~10 10-1=z
Z
~ 16 ¥ 10 | A”7*"3 Yes

o SoL,



PA Worksheet U2-5 Name: K¢Y4

/15 7, Date:

C1: Please solve each equatlon below for the glven Varlable j
1. 5x+11=-14 2. ~Tx—13 %36 . 3. 2x-8-10
SRR Y 113 13 4 |+g

by =i -25

5 {5

|x= -5 o |

4, 3x+T75—14 5. —12x+36 6.

7|7 | ~36

9. S5x+13E-12

~13% {73
-Sx F-25
—_ -8

x4 5 |

Aaron Hickman T Parkway West Math Department 1T Pre-Algebra T Fall 2009



" PA Worksheet U2-6 Name: K4

e /17 - ~ Date:
C1: Please sol{e each equation below for the given-variable.
b 4x+11%-5 2. —Tx+18k3 3. 3x—13=8
-F -1 ~ ~13 18 )3 13

| - 83@?::‘ *‘7
;_7 _7

~14,

] ~% 75 -
9. §§+~_ﬂx *l?+30

15Y 445
= LS

Aarcn Hickman 7T Parkway West Math Deparfment 7T Pre-Algebra T Fall 2008



PA Worksheet U2-7 Name: K2
15, -~ Date:

C1; Please solve each equation below for the given variable. :

1. 32x+5)E-9 2. 2(4x—6) =28 3. 6(2x—10) = 12
. ~§Yt+i242¢ o 41z
L v 154 -4 Yﬂ taze 12x 0 4 |2

-15 |18 | too |60
- ~gyY b Iz =72
= " e A
‘,ri_g/«#/ i
X=-2 ) '@
4, 5. 4(2x ¥ ) L -40 6. 8(x—2)=24
~EX 04 gy &Y -1k ZY
e l4g Ho |1k
- gy 4-22 gx 1l
4 ’:Z: o N 7. jj'_':#n{;f
=% =4 =2

7. 5(2x —~6)=-80 8. -9(2x — 6736 9. {(6x—24)+48
103«!'50-*\;”8& ~1EXHSY T <3 X4 g

30 o ~Sy1-s7y ~24| -2y

Lo = =50 _ X 90 _ex ¥ 2Y
" :

~Jo 1D = v i

C2: Find the value for x that will make the two fractions equivalent.
1z S 3z L

1.2 10 3.5 x

.Qx:(i 0
AN

IX:S J
3.2

4.7 x

35t 03

—Tr = I .8 e e AL i

T 2 Talal"]



PA Worksheet U2-8 . Name: & i‘j}

/15

'C1: Please solve each equation below for the given variable.

2. -3+Tx 10522

T 13 27
113 #13

7y H 38
-5 7

X=5
5. 3(5x —\ﬁ)j 120

|S¥~%02]1 20
156 (30

lsx =[150

7. -_6(~2x—3)+3x7=—12 8 3(x+ ~”11:1_6
12X +1313K 2 ~12 SRR

15X +18 =-12
N

5= 2
—TS iS

C2: Cross multiple to solve for x.

Aaron Hickman 70 Parkway West Math Depariment T

Date:

3, 7-3xF21-17

T-5X 7 4
-..7 -7
-3(3-3

= {3

6. 2(4x+3)-12xF 13

B 13
-4y e o 3
A ~b
~ Yy _—;\l '
—y <A
9. 5(4x—2)-2x+5%13
20Xk 213
18y -5 =13
' +5 rs
Igx 318
—1% 19
3_3
3.8 x

Pre-Algebra 70 Fall 2009



o PA Worksheet U2-9
N2 '

Name:

3y
v Date:

C1: Please solve each equation below for the given variable.

L 12-4xd-18+11x 2. 24x—8+10xF-2(4~7%) 3. 2Ix+15E-5x+7
T LSy 15K
| HY-€ =[~F Y X -
12-15% 218 ~4X “ 1Y ¥ ~loX HSE 7
N ~12 16 |-
2 2oy~ 84 -4 HIRE
m15X330 re |48 ~wr,g
- |15 = | =7e
‘ 20X 0 (¥X=0 :
4. 9(-5—x)F-10-2x 5. 5x—6+AXEX+2 6. 4x—3xr 5% —28
R e L X o Gx-2¢
"—?-){ '4'2X _'5{ ‘X —SX __SX :
~Y5=7XF -0 - 7%-b 3 2 v A
HRETI RRTALY %X:Zf
-7 2 9y -
—%g = K=-5 2t 1 @
C2: Cross multiple to solve for x. '
g x+2 me—~3- . .
1.5 10 2.6 30
. (¥-3) + 210
5(t+9) F 20 g pat
bY-1§3 210
—1o |—l0
eX = 228
| 0
KN Ry
8§ 3 40
412 x-10 5. 7
§(x-10) ¥ 35 7Y x) 360
@x;gg: 294 T2X308% 360 WX~ 360 % 900
ox =l s e’ A
22 = 72X =502
% < 0y \72 LY = 72&:0

Aaron-Hickman 7T Parkway West Math D
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" PA Worksheet U2:10
2

Name:

Keu

A

C1: Please solve each equation below for the given variable.

1. Sx+12%7x+36
T kX

4, 8x —20%-15x+29 5. 3(3x+9)F18x — 54
HOX H5¥% %H—T/
Wi - T
430 |20 -+ -SH’_
X =49
S R L
C2: Crossaultiple to solve for x.
6 x-—3 '
17 14
(x-2)+ 8 t?o
VX214 Y SN
YU |12 jo X %So
eI 5 15 k=sl
7 7 '
T4 x—9 420
45 x-1 5. 8 24
(%) 210 24( x-4) 4 320
-7 £210 X ~216E 320
sl B F200 21l
X A7 24 X
J 7 2

1

2. 2x - 136537

-k

~YX-1%4 =37

+HD

f&gmwjg%(mun‘ 8 ?mkwuy West M? h Pepu

Date:

3. 15x+35+ 10x+ 100
~10X  |-10X
5X£351 00

=3¢ |-%5
éy{ ps LS

Al

6. 4(2x ~16) £ 2(8x + 16)

X=bY ¥ ox +22
~[pX —Jb X
- gX-6Yyt 32
4 |F6Y
‘;gji: 10 X = -
—& —% '
420
3_9_x+5
Lf(x%)% g0
UXrzo 5 160
~20 - 20
Y« Flee
—q q
x-2_30
6 2 12




Pre-Algebra Worksheet UZ—-I]

Name: K@U\ Date:
Please solve edch equation below for the given vanable and then check your answer.
Solve Check Solve | Check
1. -9x+17F71 1, -9x+17=171 2. 5x+27%-38 2. 5x+27=-38 .
A =27 |27
) *ﬂ_(io)H?: 7 | 7 S+ 27=-38
_?l(-:% SU+172 7] SY =S oS 27 =3
T S S _,
71 "'-7 / - = - v
~ l = 282-33
K
Solve Check Solve o ~Check . -~
3. 4(4x-5)% 76 3. 4(4x—5)=76 A-12x+7+-51+10 | 4 -12x+7=-51+10
b¥~204 76 Hyte)-9)= 70 | Tl | 7 Lf)+7' - 5h+io
420 420 | i - _ap
Li(lq ’5): 70 |y "H?-F_? |
le X 96 ‘ *IZX'/LL ~Yl= -4 v
Zo=76"
- Solve Check ~ Check .
5 15x—3+5x+53 |5 15x-3=5x+53 6. 4x—9=-4x-25 :
=54 ~3X ' _
A | e *3‘—&5’;")5 Al2)-9="42) 28
0%-3455 | - = o= gos
+3 1 +3 Y-3= 74+53 -
: -7 = =1
X | Sb gl<§l v [7= =17 v
R &/
10 1
L= G.b

Aaron Hickman T Parkway West Math Department T Pre-Algebra T Fall 2009



5C3]+QD ’Q)j
S [21-%]

5[’;01 Aaron Hickman 7T Parkway West Math Department Pre-Algebra 7t Fall 2009

1244

i

) -

g~

: Solve —~ Check
7. -10(2x-7) 1= 5(2x—14) ‘p-m(zx—n =5(2x— 14)
- 20 +70 = (0¥~ To -1o (2(8%)- 7= 5 ;»@..ﬂ%@
X ek ~10(a3-7) =5 (231
~30% 470 1 =70 ~10(23) = 5(—q. %)
=70 =70 — — -
— -n3= 33
“50% = X=4 b 237 -
=) ~30
_ Solve Check
8. 2(-3x + 8) + 3x + 3(6x —2) — 20 8. 2(-3x+8)+3x=3(6x~2)—20
~UiH #3x 3 =L 20 2(-36y18)+ 3= 3(4t2) -2) 20
Bkl 4 Bx-2p 2(-e+€) %6 = 3(12-7) 20
~iBX —ISK '2[2)_]_(.: Z('o) ~20
“AUXHLE -26 446 = 30-20
“le ]| ~| :
iy Aoy 2=z o =0
7] o
C2: Simplify each expression using your knowledge of order of operations.
(32-44)
1 (723+9)+(5e=2) ., (10—(—2?)+.(12?4) 3 5°+3-12
- (2141)7 () 124 (3)° EUL N S '3
30 =iy g 25437 28712 [
- C — @ (1203 (18))
5[(10-4)-32+(13'+(-—3)—s] s G-(-7+6)
5[qo-a+'nw | (36 (-1
( U ) * 2) ’? g

o

—

Cr

[

—



Pre-Algebra Worksheet U2-12

Name: Date:
C1: Please solve each equation below for the given variable, and then check your answer.
Solve Check Solve /" /\}_\, - Check
L 6x+19F-11 1. 6x+19=-11 C-1x=27=17 |2.-11x-27F17
i -y 1az =it | i)~ 27247 +27 |¥27
L L S I I A R/ v B
b A — -
Z_§ b’”‘*ll\/ l7:|7/ H'/—/"Lj
L= ol 4 |¥=-4
= T —
Solve Check Solve ' Check
3. -22(3x +9)+-36 3. 2(3x+9)=-36 |4 5x+9+lx4=35 4. 5x+9+7x =35
e ~h-{K F-34 —2(3(6)%):-3{0 I2¥4+9 335 5{2.@)4,6“7&‘@: 25
e (e -9 t+4 ="
' “ A a+9)=-% ] -
oy A (4+9) oyl | DOFIE ISy =35
:__[;;,.,/C "ZU%}:'}(’. @HTZ’— 3‘_1 %“: 35 v
k)(ﬁ 4= ’3@/ \XT‘Z!E}
Solve Check Solve - Check
5. 4x+9=-6x+59 |5 -4x+9=-6x+59 |6 11x-158x+20 |6 11x-1=8x+20
Y [ R —~9X Xk(' )
L (0 T =-Gas)yg {4) -1 = 8[7)+20
24444 9 ) 3K-1520 |
I A e B/ B I 77| = $6+20
SRR S 2=

~ Aaron Hickman T Parkway West Math Depariment T Pre-Algebra T Fall 2009



Solve

1+

~lo-b 799 |
- 5 =

Check
7. -4(3x—6) =4 6(2x + 12) 7. -4(3x - 6) = 6(2x + 12) |
sy 124472 ~1(369-0) = 6(z() +12)
“[2X '
—§ZX- f(f(—t,—e): é(—'-H iz)
_‘MX}Z’Z:}: ;/42 | “4(-) = & ()
“en el - v
- 24(% ¢ 18248
7Y ""':.
V= -7
Y . Solve | Check
8. 3(7x_10)+§+3_1 +5x+19 8. 3(7x—-10)=6x+11+5x+19
ZIX=30 =) ||y + B0 3 (7{:,)40) = LG) FY+8(6) 119
_ Ly :
X ¢ 3(42-10)= 36 + 1 + B0 +19
10X-307 %0 | |
130 | +30 3(32) = 4y7+20+19
X = 60 IR L FRE
D ‘ -
i\ =g,
(=2
C2: Simplify each expression using your knowledge of order of aperations.
(10~(=5)=+ 3 2
T R /e 5, (0510:9)(743-9)
15’5 | 77 (1-5)* +12 (1D + (10-9)2
-5 - (@ 34 ()2
'SaV I 36 +)
(+30(9)-6 i) 317)
4. O+(E5)+]) 5.5 ~[Be 0+ 2)+@-8+6)] -
(§+-24) - L

? ""Ezgﬂ-z)) b (-0+0) ]
G-[a+z2]

q -1

Aaron Hickman 7T Parkway West Math Depuﬁmeni T Pre-Algebra 7 Fdll 2009
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Pre-Algebra Solving Equations Review Sheet

Name:

Date:

Please solve each equation below for the given variable, and then check your answer.

Chéck Check
1. x+-11)=-2 2. x-10=-17
C{+(-\t)t~2 -7-10= -7
-—2’—"—*2‘/ ”17:"17'./-
Check Check
3. -14x=-112 4, 8x=-80
- £)=-1 i(-16) = 50
W 2=-127 g0z 5
Check SolvF: Check.
5. 5. 13x-19=7 6. 6x+22F-38 6. -bx+22=-38
-2 |27 . ,
5(2)-14=7 (o) +22=-35 .
. — X (0
71/ o ~2g=-357
Solve Check Solve 'Cﬁeck
7. 8(-3x+5)=l\=—56 7. 8(-3x+5)=-56 8.4x +3x+1%8 8. 4x+3x+1=8
=AY -5 {5(»3@1) Jr5>:¢s~(a ’ 7xH 4 ¢ Y +3()+i= ¢
40 | -0 B e A T A
T e S ) B
s ‘ by g
'1' ‘_,bu{ . g\(',.7) :"_% / 7 | - 8"’3 .
: ST -5(05;5*9/* K= | '

Aaron Hickman 7T Parkway West Math Depurfmenf T Pre-Algebra 7 Fall 2009




‘ Solve Check Solve Check
2 OX—47-9x+23 | 9.-6x~4=-9x+23 | 10.2x+12F-8x+22 | 10. 2x+ 12 =-8x + 22
HK +9¢ HeX |84 O
1 Sa)-y=rez 200)+12= ~§(1)vod
3X‘1 113 Sy g 0X424 22 | 7
FY |4 o= ”(/3 —z |1z 2+2c ~§+17
34427 58 = 8¢ Jox=to e
3153 [0 '
' “Solve . Check
BT 4(5x+9)T~2(7x+12) @4(5x+9)— 2(7x + 12)
20X +3), = -tjxx- 24 st = -2 (7bgmg)
' 1
qux ﬁf(—-&%zﬁ -): =7 (ﬂ.az.ss + Z\)
KT -2 |
3b |-l 1{e19)= 2(-39)
AR 7220
3Y 2Y
X=<-17 ‘
Solve; Check

12. 3(4x +6) +2(3x+6)4[5(2x+4) 2

12. 3(4x +6) + 23x +6)=502x +4) +2

I EXHL o X +20 +2 3(%(—1)1%;) +2(3 l)H: (26 +9) +2
- o -7 3(—4+Q‘]’_2(‘3+b)-—5(—24-‘))4'2
R EP N
L+l = lotZ
X + 30 _
oy 2= 12
BX = f |
S & .

Aaron Hickman 7 Parkway West Math Department 7 Pre-Algebra 7T Fall 2009 |
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Name:- KW _

Pre-Algebra Unit 2 Review Packet

Concept It Distributive Property and ‘Combining Like Terms '
Simplify each expression below using your knowledge of the distributive property

ferms.
1. 6(-3x+2)

To1Q% H1A

AT
4. -2(-7x+ 10

7. 4x+9-5x+10

— —

- % 9

—

10. 6+9x—Tx+6x —15

—_— — — L
— —
—

| K9

=N
13. §(6x—3)+15

B0L-15 1S

k@
16. -5(2x +4)—-3 +8x

- 10K-20-3+§ X

19, 4(3 +3x) + 5% — 1)

—_—
—_—

-'\—‘C\’?./ —_1 7

~12412 % +49% =5

—_—

AN
2. 53x+11)

“MBx+ S5

5, 3(11x-- 5)

8. 13x— 5x + 10 —4

QL4

11. 4x +10x~6+17+

14, -5(3x —3) + 6%

SIS FISHLK

—AXH15
17. 34 9x —4(2x +11)

L3 9% T4y

—

—_—

T

20. 6(-15% +2) + 3(-Tx + 12)

~OXFIZ - 21y +30

=
\*H2x+%€

and combining like
3. -7(x+9)

- 7% b3
-6. —4@4—8).

9. —7x—16+5x +19x

=

12. 3x+10-7-9x+1

15. f@x+7)-22x
~72x ¥Sl 22 X
tﬂ%x+9@?
18. 7+@4)+17x
7-Ygx +Zjl 'Hlx

AN ST
21. 73x+9)-7(Tx+ 1)

ULe3 -49x-7




- ‘Concept II: Solving 1-step equation with addition or subtraction.

- 5. x-6.43 |

hef3

9. —8+x=1

¥

19

12 3.x+12F16

©2.x—8
g (48 ~ iz
6. 6+x1-13 7. 9-x518
-, |76 ~q9 9
uElE
. =
“ X '=-q
10, 24xk3 11 71-xdles
{2 ~12. -7 -'7{
A3-19 -XF2.7
— 1 —1
X=-2,7
15.x-9.451-13.57
44451 +9.458
X.:; hL}l]Z

12. x—(-12)

}('%'\‘2 k
—_ 2

X, T

£-10

- — 1O
— |2

-7

16. x+(-5) Los

23
S

=Y



3

R

EETRSETET | Lol R i S| LR T EenE by T TSR] IE%RT T T TR e e T
SRS PRE TSRS E

L et kit At dnae 1y ot ]

L
Py

o . Concept IH Solving 1-step equations with multiplication and division.

0.8 11. —2.2}(:—13.4 12. SXL-_IE |
1.45 3.95 - -22 ) =22 $1 5
s

,_.
e
ot
.
Lh
5
]
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.~ Concept IV: Solving Mulﬁ-Sfep Equations.
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: Concept V: Solving Equations with Variables
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Concept VI: Solving Proportions.

Use your knowledge of proportlons to solve for x below.
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Concept VII: Determining if 2 Number is a Solution of an Equ:igon or Inequality.
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